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1. Considering water as a weak-field ligand, the number of unpaired electrons in
Mn (H,0)4)** will be

ANF 73 (P Frene BRI Reaoar IR [MnH,0) )%+ © 41 R TARGR WM 2]

Al 3 | B] 5 N

e 2 D] 4 ¢ v

: : v
. K
2. The atmospheric gas which cannot produce greenhouse effect is N

CIEEeR 2O T FT (AR IREGFS ¥ (R T

Al N, Bl HO

[C] Co, (D] O, "
S
i
3. Thermoplastics are
S 2NBHCIR &
\‘\ ’
[A] linear polymers o
\ .':\
(4R Al AN T
' LN
[B] soften or melted on heating RN
tog IRt @A @ A A W Qg“ ﬁk

{C] molten polymers that can be moulded in desired shape

e «fMRER T T wwEE e R

[D] All the above are correct
e 8T AFEIRHE W=

4. Soap is a sodium or potassium salt of

SIAH O (@0l AT B a1 «5ime w7

[A] » stearic acid [B] oleic acid
feafie afes : RS «@fRe

[C] palmitic acid [D] Al of the above
TeRe ofes S8 ARAAR

CEE-2014/3-B | P.T.O.
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(A
\_S/The deficiency of vitamin K creates
feofm K wrore Tea @Er @wEest 2

‘_B]/ excessive bleeding in injury [B] might blindness
YOS TEHIT T4 Eealal
[C] scurvy [D] beriberi
IS @R

@ Which of the following is not an artificial sweetening agent?
wore fraReey fsove @Rt Ffaw o #=1?

[A] Sucralose [B] Alitame
PFETS «ferhy
Sodium benzoate [D] Aspartame
® o @ T GRATICEN

®X~D(+]—glucose and $-D(+)-glucose are
o-D{+)-I3'® F B-D(+)-IF'® (XX

[A] enantiomers [B] geometrical isomers
IR SpffEs SR

[C] epimers J[D] anomers
R GG

@ The human body does not produce
TR %A oS IRQ AR

_[A’]/ vitamins {B] hormones
o =/

[C] enzymes [D] DNA
GERT f&. @1, a.

CEE-2014/3-B
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9, Biomoiecules, which act as drug targets, are

g SRR 35T I TN 0% S CaR

[y/ carbohydrates [B] proteins
RIS E AT o fom

[C] nucleic acids [D] All of the above
Aol afze G949 AFCACT

10. In decreasing order the S 2 reactivity of the following halides can be arranged as

we il (@R S, 2 Rivwm ferer sqsaws 2’9
CH,CH,CH,CH,Br({), CH,CHBrCH,CH, I}, (CH,),CHCH,Br{ll, (CH,),C—Br(IV}

A] I>IV>1II>1I B] 1>1>IV>II

[9 1> >V=>1 D] T>11>11>1V
11. For adsorption of a gas on a solid, the plot of logi vs. log pis linear with slope equal to
m
M+ e @bl (1T TEPMNR AT log X 7 RS log pI w1 TR T 29091 2'H
m

Al Kk B} logk
- 2
n

12. KF has NaCl-type structure. What is the distance between K* and F~ ions, if the cell
edge is a cm?

KF 3 51591 NaCl3 %q | (FHEe® @ cm 7@, K* ¥ F~ 9g< @ fo0m 232

[A] 2 cm B] Zcm
[C] 4acm {B]/ g cm

CEE-2014/3-B 3 [P.T.O.
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13. The electronic configuration of a dipositive ion M2* is 2, 8, 14 and its mass is 56. The
number of neutrons present is

95 eI WEe M2+ 9 3@ R 2, 8, 14 WIF W ©F 56 T0A % SEeq Wegae
A TH

[A] 32 B] 42

[C] 30 ) 34

14. Identify the product C in the following series :
o figefe Sevm @@ T o F40

Na/C,H5OH HNO Cu/573 K
CHCN —2/ C2HsOH 2, / > C
[A] CH,COOH [B] CH,CH,NHOH
[C] CH,CONH, y] CH,CHO
@Insulin is
e 2R
y steroid hormone [B] peptide hormone

CAEURSLICH CiefiEs =W

[C] amino hormone [D] None of the above
qfs = ST OIS =W

16. Hinsberg reagent is

Hinsberg @R<e t&r
[A_j/ CzH;SO,H [B] C,HSNO

[C] C HS0,Cl [D} CHN,CI

CEE-2014/3-B 4
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17. Which of the following represents the expression for %th life of a first-order reaction?

2ow-g fifgmm Suy wiy wom e e fdfy wfice 2

/

k 4 c 2.303 3
A log — log =
Al 230383 J@] K EZ
[C] 2-303 log4 (D] 2-303 log 3

18, The equilibrium constant for the reaction

H,[®) +1,(g) = 2HIg)
at a certain temperature is 49. What will be the equilibrium constant for the reaction

.1 1
at the same temperature?
a3 W8 Saeere R
H, g} +1, (@) = 2HI(g)3
G F9F] AW 49 20, (B KT Tweors R
.1 1
Hl(g) = FH2 @451,

AW £ T AW 722

A] 7 Bl 2
[C] 245 [D], 98
J
19. During roasting, copper pyrites is converted to
SER NS AR SHEAREE 1R = oo
[A}” CuS+Fe,S, [B] Cu,S+FeS
[C] CuSO, +FeS [D] Cu,S+FeSO,

CEE-2014/3-B 5 [P.T.O.
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@Whieh of the following is the strongest reducing agent?
we fEaEs fSoae @R biRets *fRedl e ?

(A] H,0 [B] H,S

&} H,Se —1D] H,Te

An equimolar mixture of benzaldehyde and methanal, on treatment with sodium
hydroxide produces

rEEEEs wF e AR fmg o 2R Reeke ore R e foa

Teow 7T
C1)I-I
COONa CH—CHO
(Al ©/ and CH3OH B] ©/
COONa
©/ W CHZOH
OH
CH,OH CH—CH,OH
[9/ ©/ and HCOONa [D] ©/

CH,OH

©/ ¥ HCOONa

22. The reagent needed to convert C . H_.CONH, to C 6H5—NH——COCH3 is
C H,CONH,3 C H,—NH—COCH, & “Red" IR oy Rees 2=

[Al  KOH/Br,; CH;COCI [B] KOH/Br,; H,/Ni; (CH,CO),0

[C| KOH/Br,; LiAIH, [D] HNO,; Cu,Cl,; [CH,CO),0

23. Baeyer’s reagent is used for the detection of

wore frl (@] fBre IR| IR (ERE [ Tegs =

[A] presence of sugar [B] presence of unsaturation
=9 Sefefe PRYEOR TR

[%resence of ketone [D] presence of alcohol
5 Tl | etz TRl

CEE-2014/3-B 6
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24. The structure of the compound that gives a tribromo derivative on treatment with
bromine water is

A M 7o R ¥R TRa'w gem fm QbR a5 2

CH,OH
Hj
[A] [B]
OH
Hj
CHjy
e
OH
OH

25. Ammoniacal silver nitrate produces white precipitate on reaction with

G RIeEs PersrR ARGn [imm $R 30 wysewe o (@oght 2'=
}]{/ H,C—C=C—CH, [B] H,C—CH=CH—Cl
[

4

H,C—CH,—C=CH [D] H,C—C=C—Cl Y

e

26. The structure of +CH3 is

e

*CH, 3 557 27

[A] tetrahedral [B] linear
eA SR
[C] planar {}( pyramidal
- eAE e
27. In the following sequence of reactions
wore femn et
P+I M CH3CHO H,0
CH3CH,OH — 23> 4——2 5. =73 >C—2" 5D
Ether

the compound D is

D (MR XA |
[A] 1-butanol ] 2-butanol

1-REoe= 2-Rehm=
[C} 2-butanone [D] 1-butanal
2-[{EBR’s 1 -

CEE-2014/3-B 7 [P.T.O.
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28. The temperature of a gas in a closed container is 27 °C. If the temperature is raised to
327 °C, the pressure exerted is

I G I (3T GO TRe@ 27 °C. W Tww 327 °C (& Ik MW =, (50 G

[A] reduced to half (B] doubled
A T IR 729 T'F

[C] reduced to one-third \[}k Cannot be calculated
-G T'] S FRI S AR

29. 44 g of a gas at STP occupies a vblume of 2-:24 L, the gas is
(*1% B 4-4 ATH STPY 224 L WS WAFR 39 | (R X'

Al O, [B] CO

igr” co, [D] NO, e

30. The density ratio of O, and H, is 16 : 1. The ratio of their root-mean-square speed is
O, ¥ H, I TAG WS 16 : 1. TEEA 19(-9%1 P R WIS T3
Al 4:1 B] 1:4

[C] 1:16 [D] 16: 1

31. Two oxides of a metal contain 50% and 40% metal (M) respectively. If the formula of
first oxide is MO,, the formula of second oxide will be

Bt PR (M) TP THRES GWHR MY INTFH 50% WF 40%, W AU AR ACFS
MO, @, (58 REWHR AwFS T3 “\//. |
no X

i
I

[A] MO, [B] MO, ™
/\M

[C] M,0 D] M,O,

CEE~2014/3-B 8
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32. 0°5 mol of Baa.Cl2 is mixed with -2 mol of NaaPO 4 The maximum number of moles of

Ba,(PO,}, that can be formed is

0-5 ¥'A BaCl, I %S 0-2 W& Na PO, R&eRl (x| B (T Ba,(PO,), I WA® ¥'A
2’3

(Al O7 B] 05

] 0O1 (D] 02
y:

33. The total number of protons in 10 g of calcium carbonate is

10 g (FeIfRam IHGHS 4o 35 25 e 29
[A] 1.5057x10%* (B] 2-0478x10%*

€ 3-0115x10% [D] 4-0956x10°*

34. The set of quantum numbers not applicable to an electron is
951 AT (S AT A (PRGN FHIFIRT =0 27

Al 1, 1,1, +% B] 1,00, +

-

b |

9 10.0,-2 D] 2,00+

K|

9{ The ion having the maximum magnetic moment is

ﬂzﬂrwgqﬁamwmi’a

{A] Mn2+ . \I}}/FCZ"‘

[} Ti%* [D} ¢r?t

CEE-2014/3-B 9 {P.T.O.
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36. The atomic numbers of elements X, Y and Z are 19, 21 and 25 respectively. The
number of electrons present in the M shells of these elements follow the order

X, Y ¥ Z (ToR] YREEES A IGEFW 19, 21 9 25. @3 (@R M fSsas o

BN AT FAGT 2

Al Z>X>Y (B] X>Y>Z
b

€] Z>Y>X D] ¥Y>2>X

37. Radial nodes present in 3s and 2p orbitals are respectively
3s | 2p WA 4 @fwea 7T TF NG

[51, 0, 2 B] 2,0

cl 2,1 (D] 1,2

38. For which of the following species, Bohr’s theory is not applicable?
S (FCHT WA IXI I S A0 AN T ?

[{\J/ o™ (B] Be*
[C] Li%* [D] He?*

39. The ratio of energy of the electron in ground state of hydrogen to the electron in first
excited state of Be®* is

TG (ENY TG S A9 IEER E A Belt T e WeRe T@Ee 49 Feigae g
TS 2

Al 1:4 B] 1:8

€] 1:16 AD] 16 : 1

40. The combination which contains only isoelectronic species is
H-JAGAN LA 4F ARG T'A
[A] N3, 0%, Cl, Ne B} P37, 8?2, cCl, Ar

[C}/P(‘, Ar, 8?7, CI” [D] N3, F, 02", Ar

CEE~2014/3-B 10
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41, The correct order of second ionization potential of carbon, nitrogen, oxygen and
fluorine is

FRE, ARG R, SRE OiE FRee &8 andRd [ we ol 2
[A] C>N>0>F [B] O>N>F=>¢C

€] O>F>N>C DY F>0>N->C

42. The electronegativity of the following elements increases in the order

e il (TR Rygedrer e @ b 2'4

AL C, N, 8i, P [B] N, SiC,P
[C] Si,P,C, N [D] P, Si, N, C

43. The correct order of the increasing basic nature of the given oxides is

I THTOTIZA W B BRFAG (R
[8} MgO < K,0 < Al,O; <Na,O [B] Na,O < K,O < MgD < Al,O,

[C] K,O0<Na,O0< Al,0, <MgO [D] Al,0, < MgO <Na,0<K,O

44, The correct order of electron affinity of B, C, N and O is
B, C, N % O3 (a3 S Wa FACH 279

[A] O>C>N>B B B>N>C>0 3\

P
4.61/0>C>B>N' D] O>B>C>N

45. In XeF,, XeF, and XeF,, the number of lone pairs of electrons respectively is
XeF,, XeF, WF XeF,© Wl SR WHETAT P T INFH

Al 2 3,1 B 1,2 3
J:f] 4, 1,2 D] 3,2 1

CEE-2014/3-B 11 [ P.T.O.
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46. The correct order of bond angles in st, NHS, BF‘3 and SiH 4 18
H,S, NH,, BF, 9% SiH4E A (PR T FECH] TH

[A] H,S <SiH, < NH, < BF, [B] H,S < NH; < BF; < SiH,

C]~-H,S < NH, < SiH, < BF D] NH, <H,S < SiH, < BF
2 3 4 3 3 2 4 3

47. The molecule/ion in which the ONO angle is maximum is

ONO (19 T (a1 & /ST XA

[A] NOj; [B] NO,

[C],~NOj; [D] NoO?,

48. Which one of the following statements is not true about resonance?
oS il (PIeh B o A0 o) W 2

[A] The resonating structures are hypothetlcal

ARG MG TS

[B] The unpaired electrons in various structures are same

fRfen sloeq ST TEFTR ]A AW

Hybrid structure is least stable

HPRE o wbiEes T fEe

[D] Hybrid structure is least energetic

RIS 5O ABIRSLF PN o

49. The number of sigma and pi bonds present in toluene is

GaTe 4% o5 SR o e e 2'e

M 3n+8c [B] 3n+60

[C] 3m+15c [D] 6n+60

CEE-2014/3-B 12
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50. The correct sequence of increasing covalent character is represented by

TS 1 BRETT W T 29
[A]  LiCl, NaCl, BeCl, (B] BeCl,, NaCl, LiCl
[0 NaCl, LiCl, BeCl, [D] BeCl,, LiCl, NaCl

51. In which of the following neutralization reactions, the heat of neutralization is highest?

wore T amce e e e wrer sfifes 2737

)P]/ NH,OH and H,S0, {(B] CH,COOH and KOH
NH,OH =¥ H,80, CH,COOH ¥¥ KOH
[C] HCl and NaOH [D] CH,COOH and NH,OH
HCl =< NaOH CH,COOH =¥ NH OH

52. Enthalpy of formation of a compound
(T @B WA G 2’9

{A] is always positive
TR YR

[B] is always negative
0 R RS

‘[}2{ can be ecither positive or negative
SEICSI I IR

[D] can be eithdr negative or zero
TS A

53. For the gaseous reaction N,O, (g) = 2NO,, (g}
o e N,O, (g) —» 2NO,, (g)3 IR

yAH=O [B] AH=AU

[C] AH<AU [D] AH>AU

CEE-2014/3-B 13 | P.T.O.
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54. Enthalpy of neutralization of all strong acids and bases has same value, because
FHRCALAN O W HF O T o GqQET T AW, FE

_@/ neutralization leads to the formation of a salt and water
ePIIE FOTS P2 WIE AR Teom =

[B] strong acids and bases are ionic substances

S Y T BF W AEAE o

[C] acids always give H* ions and bases give OH™ ions
O w§E M HY AEW WIF FII WE OH™ oRW Seom I3

[Di the net chemical change involves the combination of H* and OH™ ions to form
water

P IR ARSI HY W® OH™ SR FEeaem &

55. For a process to occur spontaneously

9B *FS TOrTE T AR

M (AH — TAS) must be negative [B] (AH+TAS) must be negative
(AH — TAS) 4I9S 8'4 &= (AH + TAS) 4919 7' A7
[C] AH must be negative [D] AS must be negative
AH ¥ 2’3 =R AS FIRF 7' ey

56. For the reaction at equilibrium N, (g) + 3H,, {g) = 2NH (g}, some inert gas is added at
constant volume. In this situation, which of the following statements is correct?

N, (8) + 3H, (g) = 2NH, (g) Riemctre & wmewe Amrere fog A o= @ w11 =)
R R e frd @ B wm 237

[A] More of NH; gas is produced
W4 NH, (12 Teom 3'q

{@/ Less of NH, gas is produced
TN RN NH, (12 Beom 23

[C] K_ of the reaction is increased

p
ﬁﬁawrqumaﬂﬁ

{D] No effect on the production of NH
NH, SR (RIS (AT &S FHY

3

CEE-2014/3-B ' 14
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57. In which of the following reactions, doubling the volume of the container causes a shift
to the right?

wore AR (@eo! RfEars «fas wmen qad afes fRigm ciree 19

[A] PCl, g} = PCl, ) +Cl, (g) | /[Esl 2C0 (g)+0,, (g) = 2CO,,(g)
[C] N,(g)+3H, (g —2NH,(g) [D] H,(@+Cl, (g = 2HCI (g)

58. Three sparingly soluble salts M, X, MX and MX , have same value of solubility product.
Their solubilities follow the order

s ¥ <y w@ge m fOfor @ M, X, MX W MX, 3 GRSl 9TFR TW 90 |
Friee weimeoR @ T3

[A] MX, > MX > M,X LB]/MX>MX3>M2X
[C] MX > M,X > MX, D] MX, > M,X > MX

59. The pH of a solution at 25 °C is 2. If the pH is to be doubled, then hydronium ion
concentration should be

25 °C Txore @bl ¥4< pHI W 2. pHI TH 189 FRALA 2@ 2RG WA S el 2’7

{A] doubled [B] halved
A
%59 -
[C] decreased by 100 times [D] increased by 100 times
100 &9 Z 100 &t @

60. The indicator used to titrate Na2C03 solution with HCI is
Na,CO,q ¥aF HCIT TRl SR A48 a2 T4 TPFY (XL

{A] phenolphthalein \@ dilute H,SO,
FEeCem @Y H,SO,

[C] methyl orange [D] None of the above
R =g @99q «fle 72y

CEE-2014/3-B 15 i P.T.O.
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61. A certain buffer solution contains equal concentration of X~ and HX. The K for HX
is 107®. The pH of the buffer is

<l AR TS W MEOE X~ WE HX WRR ! HXT K, 3 T4 107° T IR w@or
pH 2’9

Al 3 IB] 8

[C] 11 /{6] 14

62. When the temperature is increased, surface tension of water

Twwl I e AN pom
[A] increases {B] decreases
= = ZFt IR
'[jyf remains constant [D] shows irregular behaviour
riffaiée A ~7 e SR %W

63. In the balanced chemical reaction 103 +al” +bH" —¢H,0+dl,; a, b, ¢ and d
respectively correspond to -
Taglers IFREE RiE 105 +al” +bH* — cH,0+dl, 3 WA a, b, ¢ WF dT T TUEFN

(A] 5,6, 3,3 . B] 5,3, 6,3
JC] 3,5 3,6 [D] 5,6,5,5

64. One gas bleaches the colour of the flower by reduction while the other by oxidation.
The gases are

9ol (R Rer sRae 77 R« [[(g7 33 9F oW 95i% TRR SRS F3 | ORI T

[A] co, cl, [B] H,S, Br,

€} s0,, Cl, /W/NH3, STol

CEE-2014/3-B 16
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65. The ratio of electron, proton and neutron in tritium is

GRame 4% TEEw, o' W [ e 29

[A] 1:1:1 B] 1:1:2

jer 1:1:3 D 1:2:3

66. The ionic conductance of the following cations in a given concentration is in the order
a5 W8 aFere @=Te il (FORPNR SWEAR AR FWE 2'A
\y/‘ Li* < Na* < K* < Rb* [B] Li* » Na* > K* > Rb*
IC] Li* > Na* < K* < Rb* [D] Li* = Na* <K' < Rb*

67. The pair of components which cannot exist together in solution is

TS AT AN IR (R JWH 2A

[j/ NaHCO, and NaOH [B] NaHCO, and H,0
NaHCO, W’ NaOH NaHCO, ®1% H,0

[C] NaHCO, and Na,CO, [D} Na,CO, and NaOH
NaHCO, WiF Na,CO, Na,CO, W% NaOH

68. A metal X on heating in nitrogen gas gives Y. Y on treatment with H,O gives a
colourless gas which when passed through CuSO,, solution gives a blue colour. Y is

&b 41 X (7 ARGE (el wve [ R Y B @ Y @ MR (e R IR Sew
T 3R (D CuSO, TR Wiealt %S ¥R waq =9 o @1 Y &1 2A

\[5}/1-\58(1‘103)2 [B] Mg,N,

[C] NH, (D] MgO

CEE-2014/3-B 17 (P.T.O.
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69. BOH), is a

B(OH), Ta
y' triacid base ' [B}] tribasic acid
[C] monoacid base [D] moncbasic acid
9T-HIHS 9PN B

‘70. Iodine stains on clothes can be removed by

FCARS SR g 7o SeqEte qREe w4l ey 1’|
[A] NaCl {B] NaBr
[C] KI D] Na,S,0,

71. When 1, is passed through KCl, KBr and KF solution
KCl, KBr W% KF @<9 qiCecd 1, oifere fReen Ses @@ «mef 2’3

y}/ Cl, and Br, a-re evolved [B] Cl, is evolved
Cl, @ Br, Cl,
[C] Cl,, Br,, F, are evolved _ [D] None of the above
Cl,, Br, 9% F, ST GBre W=

72. The most abundant inert gas in the atmosphere is
IFHETS HET @R R v FfF o 2'E
[A] He [B] Ne

[C)” Ar [D] Kr

73. Moist iodine reacts with ozone to give

G SR wwes (re [iFn R Secm w1 (@t T

[A] HI /ﬁ HIO,

€ 1,0, D] 1,0,

CEE-2014/3-B 18
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74. The ammonium compound which on heating does not give NH, is

Tag IATS NH, eom 731 ax'fmm @orhl 2=

[A]  (NH,),SO, (B, INH,),CO,

v
[C] NH/NO, [D] NH,CI LL§
v
e

75. The hybridization of atomic orbitals of nitrogen in NO}, NO; and NH}, are respectively |4
NO}, NO; W% NH} © S5 (ed *Ruikie SeRebarnza Heide Sael 2a 9

[A] sp, sp® and sp? 8 sp, sp? and sp®
sp, sp® 9% sp? sp, sp? =% sp?
(C] sp?, spand sp° [D] sp?, sp® and sp
sp?, sp 9% sp® sp2, sp3 WF sp

76. Among Al,O,, Si0,, P,0, and SO,, the correct order of acid strength is
Al,0,, Si0,, P,0, ¥ SO, I WHFeH W% TIG! 24

273
Al SO, <P,0, <8i0, < ALO, 18] Si0, < S0, < Al,0, < P,0,
[C] AlO, < Si0, < S0, < P,0, [D] AlO, < SiO, < P,0,< SO,

77. The IUPAC name of CH,— CHOHICH,CH(CH,)CHO is
CH,— CH(OHICH,CH(CH,)CHO? IUPAC 7R ¥4

ié/‘ 4-hydroxy-1-methylpentanal M 4-hydroxy-2-methylpentanal
4 -2 - 1 - AT FO 4 -3 - 2-RefRemerbeT=

[C] 2-hydroxy-4-methylpentanai [D] 2-hydroxy-2-methylpentanal
2-2fRG- 4- R rome 2-2fRgi¥-2- ReafEeerbne
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78. The nucleophilicity order is correctly represented by
el Rl ws w0 tar

[A] CHj <NH, <OH™ <F~ [B] CHj;=NH; >OH =F~

[C] CH;>NH, >OH™ >F~ [D] NH; >F~ >OH~ >CH;

. + + +
79. For the carbocations CH,CH,@, C,H,CH, CH, @, C H CHCH, (),

CH, C(CH,), V), the correct sequence for stability is

+ + + +
FREEEA C H, CH, [, C,H,CH,CH,[), C,H CHCH,{I), C.H,CICH,),(IV)3 TR

HEToR W TN TA
/[A]'" M<I<Il<IV [(B] N<HI<I<IV
[C] UI<I<II<IV D] IV<Il<I<Il

80. Identify the correct order of reactivity in electrophilic substitution reactions of the
following compounds :

Benzene (1), Toluene (2), Chlorobenzene (3} and Nitrobenzene (4)

weTe fam (qerTER Ty A afegem Ridrre Aferer vs Fwh Pareee 0
@A (1), TR (2), #'3RARA (3) Wi ARG AT (4)

‘[/A]/1>2>3>4 B] 4>3>2>1

[C] 2>1>3>4 [D] 2>3>1>4

81. The compound which shows geometrical isomerism is

wrfifes Awfier grysa @ Em

[A] 2-methyl-1-pentene [B] 2-methyl-2-pentene
2-Refzar- 1-¢o1f%a 2-faEe-2- e

[C] 2-hexene /{f{} 2,3-dimethyl-2-butene
2 - (R 2,3-ufafRaEE-2- e
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82. A compound with molecular formula C,H,, shows optical isomerism. The compound
will be

C,H , TRE IFE @bl (MR AR et orgam | @ @ochl 2'3

[A] . 2,3-dimethylpentane [B] 2,2-dimethylpentane
2,3-GiRRaiEstceTy 2,2 -G

[C] 2-methylheptane [D] None of the above
2-RafzwicacGa 8?[JF Jb1e T

83. Ethylmagnesium icdide reacts with propylamine to give

BYRARSNCARIN S SRS A ARFaTET e Rirm IR Seom w1 @kt o=

[él/propane IB] ethyl alcohol
A"Cof T =T A
[C] ethane (D] ethene
T ERC

84. Ozonolysis of 2,3-dimethyl-1-butene followed by reduction with Zn and water gives

2,3-RfReRa- 1-RefTe w'wwaifts sR zn o A9 7 Rera 3fiE Som 2’7

[A], methanoic acid and 3-methyl-2-butanone

7 ewfie dfes e 3-fiiEe-2-Retm’s

[B] methanal and 3-methyl-2-butanone
R w1 3-feiEe-2-REsm’s

[C] methanal and 2-methyl-3-butanone
s =% 2-fiizer-3-Rehm’s

[D] methanoic acid and 2-methyl-3-butanone

fiam’fie «fes e 2-feiEs-3-Resm'=
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85. Identify the decreasing order of strength of bases OH™, NH;, HC=C™ and CH,CH,,.
F% OH™, NH;, HC=C~ W% CH,CH; I FR¥W £f1 SusipR w5 7weic! X3

181" CH,CH; >NH; > HC=C" > OH"
[B] HC=C~ >CH,CH; >NH; >O0H"
[C] OH™ >NH; >HC=C" > CH,CH;

[D] NH; >HC=C~ >OH" >CH,CH;,

CCly x Zn dust (i) Na .
NaOH ~ Heat (i) Soda lime ~

86. C,Hs0OH Z

In the above sequence Z is

T R z tam

[A] / toluene [B] cresol
15T (T

[C] benzene [D] benzol
oI spcl

87. Which of the following can provide distinction between two functional isomers
of C,H.O?
C,H, 0 T FREFAT AN fooerae® IR 1 QI XA
[A] NaHSO, {B] HCN

[C] AgNO, D} [Ag(NH,),]OH

88. Among the following, the strongest base is
wors Tradares e wiiRee 3 Wl 2=
[A] CH_NH, _[B] pNO,C,H,NH,

[C] m-NO,C.H,NH, [D] C H,CH,NH,
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89. The correct order of increasing acid strength of the compounds CH,COOH (A),
MeOCH,COOH (B}, CF,COOH (C), {CH,)},CHCOOH (D) is

CH,COOH (4), MeOCH,COOH (B), CF,COOH (C), (CH,),CHCOOH (D} IR

WMEPIR WF I FIRH T
jA] B<D<A<C Bl D<A<C<B
[C] D<A<B<C D} A<D<C<B

90. CsBr has b.c.c. structure with edge length 4'3 p.m. The shortest inter-ionic distance
between Cs* and Br™ in p.m. is

CsBr3 %% IFIHUS ¢ WR 93¢ @¥F 9B Ol 43 pm. p.m. T Cs* WF Br 3
TR PASH G XA

A] 744 Bl 372

[C] 43 y; 1-86

91. 0-6% solution of urea will be isotonic with

WRIR 0-6% T R TW-I7FH ¥7 23

[A] ‘1 M glucose _ [B] 01 M KCl
01 M Py 0-1 M oifeam #'33s
[C] 0-6% glucose solution [D] 0-6% KCI solution
06% ¥ B3 0-6% KCl &9

92. Phenol dimerizes in benzene having van’t Hoff factor 0-54. The degree of association is

T IS fR-RETE W, T S 2 SN 0-54. WIEISAR SR (2T

[A] 46% B] 27%

[C] 54% /{5} 92%
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93. The main function of the salt bridge is
w9 (T A4 Bie e
'/[M to allow ions to go from one half-cell to another
WRAARE bl AP #Aq SO (TS TS 4

[B} to provide link between two half-cells
75l AP Were I A

[C] to keep the solution electrically neutral in two half-cells
7o T TS e e 3

[D} None of the above
GAFY B8 AT

a

E__, =0-0591V. The ratio, C, /C,, at

cell ~ “cell

94. In the cell Zn | Zn?*(C))||Cu?*(C,) |Cu, E
298 K will be
Zn|zZn?*(C)|ICu?* (C,)|Cu FWER AR E_, -E,, =0-0591V. 208K Tuers
C, /C, SAeCHl 7’3
A] 2 [B] 100

g}/ 1072 [D] 1

95. In an endothermic reaction A — B, the activation energy is 10 kcal mol~! and enthalpy
of reaction is + 5 kcal mol~!. The activation energy for the backward reaction is

Te® Rfem A-Bw mm W% 10kcalmol™! wWE «@iftr ~fwEw '
+5 keal mol™!. Ref¥rex? Rt #fmm =& w7

[A] 20 kcal mol™? [B] 10 kcal mol™!

[cy 5 kcal mot ™! [D] 15 kcal mol™?

96. For a reaction A — B, it is found that rate of the reaction doubles when the
concentration of A is increased four times. The order of the reaction is

A — B Rigme A% vl wifteq IR Rigas o Tad 73 RiFas ow 29

(A] two [B] half
i -yl
[C] one iDj =zero
GF 0
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97. A freshly prepared Fe(OH), precipitate is peptized by adding FeCl, solution. The
charge on the colloidal particle of Fe(OH}, sol is due to adsorption of

gFE (SR F9 Fe(OH), WHITFC FeCl, @9 I (fRreey F91 21 Fe(OH), 3
IEER PAPLIE AT AT AECIR IR FEE 2

[A] CI” ion [B] Fe3* ion
Cl~ Sm= Fe3* e

f[C] OH™ ion ‘WNone of the above
OH™ SR So{q bIe wEE

98. In the production of iron from haematite, the limestone acts as

CRCIBIRDT A9l HiZE o WA S pafiee & B wm wee?

[A] a reducing agent _[}}/ flux
R fRrer

[C] slag D] gangue
ScC | et

99. The magnetic moment of a transition metal ion is found to be 3-87 BM. The number of
unpaired electrons present in it is

GNRE (Toq AW BRI @RI YW TR 3-87 BM. W6 A4 SRW ARG
RN 2

[A] 2 B] 3

Jef 4 D] 5

100. Oxidation of oxalic acid by acidified KMnO 4 1s an example of autocatalysis. It is due to
the presence of

@fRTRE® KMnO, 3 7@ wobie «fewd wRe RIGeh FeEt-q Seat | =w® IR eofys

LF TRFCT T
[A] sO2- @T/ MnO;
[C] Mn?* [D] K*
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